[ Efficiency vs vertpos |
1.2

1 S - A

etticiency vs vert r

SRR S — A—
04 e S S

R SRS S S S

Ratio

0.95

0.9 : :
1072 107 1

10 0?
TP vertr (cr%)

Efficiend — DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

~n 0.2

U i R R R e
[ o . : : : :
O ;| STEERE SUTPPRE SRR R b
o) C N . . . .
LC) r . : : . .
GOLA oo .
o - . . .
£0.12F------ P PEPEY SPEPEPES |
[} r : : :
0.1 R PP IPEPERE
008 -+-e--beeersdnenen] AN
0.06F+++++wierreeivneepedfess
0.04f-+---bmeeeee Lot 1] .
0.02F - beeeeedinn S A S

| ST PN N AR ST T

Ratio

0.95f------- Froeeeedennanns Freneeedeeaaees Foaeeees

%535 =20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z
~ 0.1 - - . .
5 : E : :

0 0.09F----1- - : T P

€ : : :
7 008 gty P S

£0.07F | -ttt R R
L>)~ F N H H

£ 0.06F -+ icoeeoees oo R A
o : : :
TN :

£ 0.05F ook
ok

O RN RS SRS ST (e
0.03] : : :
0.02
0.01

bl

......................................

UL LRRRN RN RARR]
'y

Ratio

0.95

0.

10 15 20
Sim. PV z (cm)

G
[(6)]

|©



	Contents
	Page 1


